1) Which of the following level of teaching lays stress on critical sifting of ideas at the highest
cognitive level?

(1) Memory level (2) Understanding level

(3) Reflective level (4)  Autonomous development level
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2} Which of the following are the highest taxonomic categories in the cognitive, affective and
psychomotor domains of learning?

(A)  Analysis

(B)  Evaluation

(C) Awareness

(D) Characterization

(E) MNaturalization

Choose the correct answer from the options given below :
(1) (A). (B) and (C) only (2) (B). (D) and (E) only
(3  (B), (C)and (D) only {4y (C), (D) and (E) only
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3)

(A)

(B)

(C)

(D)

Match List T with List IT

List I
Helping behavior of effective teaching
Using student ideas of contributions

Structuring

Probing

Teacher affect

List IT
Description
(Il Warm and nurturing relationship with
learners

(I} Teacher statements to encourage
students to elaborate on an answer

(IIT} Teacher comments for the purpose of
organizing what is to come

(IV) Taking a student's response and
repeating or applying it

Choose the correct answer from the options given below :

(1)
(2)
(3)
(4)

1%

(A)-(IV), (B)-(I1I), (C)-(I), (D)D)
(A)-(D. B)-(II). (C)-(I1I). (D)-(IV)
(A)-(ID), (B)-(T), (C)-(IV), (D)-(I1)
(A)-(IID), (B)-(IV), (C)-(T), (D)-(II)
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i3) {A)-(IT), (B)-(I), (C)-(IV). (D)-(III)
i4) {A)-(ITT), (B)-(IV), (C)-(I), (D)-(IL)
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R What is the name for the type of checklist or rating scale that expresses criteria on some
point-scale to determine the quality of the performance of a student?

(1) Diffusion (2) Rubrics

(3) Track system (40 Deduction
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2 ) . T
) What 1s the name of the mental process that assists learners to reflect on their thinking by
internalizing. understanding. and recalling the contact to be learned?

(1) Meta cognition (2) Rubrics
(3) Peer tutoring (4 Debrefing
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3)

Given below are two statements :

Statement I: In free version of google meet (through your personal Gmail / Google account)

you can record your session / class.

Statement II: To join an online class / session conducted via Google Meet you need to login

In

(1)
2
(3)
€Y

to your Google account.

the light of the above statements, choose the correct answer from the options given below:

Both Statement I and Statement II are correct
Both Statement I and Statement IT are incorrect
Statement I is correct but Statement II is incorrect

Statement I is incorrect but Statement IT is correct
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Which of these decision traps pertain to personal qualities?

(A)

(B)

(C)
(D)

(E)

Frame blindness

Overconfidence

Taking shortcuts
Being unsystematic

Not keeping records

Choose the correct answer from the options given below ;

(1)

(3

(A). (B). (C) only 2}y (B). (C), (D) only

(A), (C), (D) only 4 (C), (D), (E) only
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Match List I with List IT
ListI List IT
(A) Proprietary LMS (Il),. MOODLE
(B) Open source LMS (I) Google classroom
(C) Cloud based LMS (III} Black board
(D) Data collection and quiz (IV) Google form

Choose the correct answer from the options given below :

(1) (A)-(IV), (B)-I). (C)-D). (D)-(ID)
@  (A)-aD, B)-AV), (C)-(IID, (D)-0)
3  @-0. B)-aD, (©)-AV). (D)-aID
@ (A, (B)-[, (C)-(ID), (D)-(IV)
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(2) (A)-(ID), (B)-(IV). (O)-(II). (D)-(D
(3  (A-D. (B)-II), (C)-IV), (D)-IID)
(4) (A)-(IIT), (B)-(I). (C)-(II), (D)-(IV)
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